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BEIEEHEIE A P AR -WRBETRRIE M S 1F T RS EE
21 ERHZFETERSEREL
Bl L R L B ARE ) LR hik® e IF
<l P 111.01.17~18 |111.02.11~12{111.03.08~09|111.01.20~21|111.02.17~18|111.03.10~11|111.01.20~21|111.02.14~15{111.03.08~09 | 111.01.18~19|111.02.15~16 | 111.03.09~10 ;;‘f;
TSP ;
3 24 /) pEiE 95 126 73 142 104 105 184 114 71 116 145 126 —
(ng/nr°)
PM103 pIisE 63 117 35 79 78 58 69 69 38 74 103 70 100
(pg/m°)
PMas 24 | P B — 58 — — 45 — — 36 — — 47 — 35
(ng/m®)
SO, Bt IS 0.004 0.004 0.007 0.017 0.011 0.006 0.036 0.027 0.010 0.027 0.026 0.023 0.075
(ppm) pLiaE 0.003 0.003 0.005 0.004 0.004 0.004 0.008 0.010 0.002 0.010 0.007 0.005 —
NO, Bk T IEE 0.046 0.032 0.021 0.040 0.039 0.044 0.044 0.042 0.027 0.049 0.048 0.035 0.1
(ppm) pTiaE 0.029 0.019 0.009 0.024 0.026 0.023 0.026 0.030 0.011 0.035 0.027 0.020 —
NO Bt T IEE 0.023 0.016 0.003 0.020 0.028 0.039 0.053 0.029 0.014 0.059 0.040 0.015 —
(ppm) pLiaE 0.006 0.005 0.002 0.004 0.006 0.004 0.010 0.011 0.002 0.022 0.006 0.004 —
Cco Bt I IEE 1.22 0.47 0.53 0.53 1.08 0.57 2.00 241 1.00 2.56 1.44 1.76 35
(ppm) Bt 8 pELIEE 0.81 0.38 0.42 0.29 0.51 0.37 1.15 1.14 0.55 1.64 0.79 0.73 9
O3 Bk I IEE 0.064 0.059 0.074 0.072 0.031 0.056 0.067 0.033 0.057 0.027 0.069 0.072 0.12
(ppm) Ht 8 EIEaE 0.043 0.046 0.071 0.060 0.023 0.050 0.055 0.012 0.055 0.008 0.039 0.057 0.06
’\(l:)\:l):;: pLiog 0.31 0.34 0.13 0.50 0.58 0.44 0.34 0.43 0.17 0.38 0.38 0.36 —
&5 (ug/md) 24 ) pE g <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
& (ug/md) 24 /) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
# (ug/m®) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
£ (ug/m®) 24 | pFiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
4 (ug/m®) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
4 (ug/m’) 24 ) pE g 9.66 9.80 12.7 7.94 6.74 6.13 7.32 5.98 7.58 5.86 11.00 2.32 —
BAT R a I s 2ad #* 2 S 7 T d AN e a -
i (M/s) i P ilaf’i, 2.9 3.0 2.1 0.8 0.9 0.9 0.5 0.8 0.9 2.0 1.6 1.6 —
& 24 | B
2R (C) p-LiaE 21.2 20.7 19.8 21.4 20.1 235 21.5 19.6 20.2 20.4 20.3 21.8 —
WEIER (%) pTiaE 79 74 61 67 70 52 72 65 60 80 62 53 -
EARE g/m?/ 8.3 8.8 8.0 8.4 8.1 8.5 8.5 8.2 —
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Bbg EEE — = 75 70 65 RLE
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B FE R 111.03.03~04 | 57.4 88.7 59.1 48.2 52.9 5 - Z;\f? 3%
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RHH 2T — — 60 99 o0
.3 LpiEe TR EEREL
§ i : dB(A)
Bl LA TR p Ay Lveq L vmax Lvio s Lvio = B % R
A FPRFEY o |111.03.03~04 35.0 52.3 39.1 35.3 § - 58 B
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BAIPEFEII A FEERS-DRBTRRF U £ 5 1 55 REEY

%6 LRIHABRTERSSREL

B2k ‘3 i\ﬁ
5B MDL | A: A. Ax B: B: B of C: Cs ji;ﬁ
(=) i1t

pH - 82 82 | 82 | 83 | 82 8.2 83 82 82 |75-85
K8 (°0) - 224 | 207 | 186 | 234 | 230 | 218 | 220 | 208 | 192 | —
23 EmglD)| - 57 56 | 56 | 57 | 57 5.7 58 5.7 58 | >5.0
s E A
) 10 | 30 28 | 26 | 28 | 18 2.3 26 3.2 24 | —
AR (psU) | - 332 | 333 | 332 | 335 | 334 | 333 | 330 | 329 | 330 | —
S RMm |- 22 - - 15 - - 1.7 - - -
PRI ]
= 'éng,ﬁ) £ 10 | 0305 | 0382 | 0318 | 0247 | 0429 | 0187 | 0443 | 0433 | 0433 | <30
“EEFIE | 15 | 18 16 | 15 | ND | 17 15 ND | ND 1.8 _
(mg/L) . . . . . . .
wak(mg/L) | 0.002 | 0.058 | 0047 | 0.051 | 0.054 | 0.049 | 0.057 | 0.051 | 0.056 | 0.059 | —
g (mg/l) | 010 | 065 | 056 | 092 | 074 | 072 | 073 | 198 | 079 | 073 | —
%5 (mg/) | 002 | 014 | 007 | 004 | 004 | 016 | 004 | 004 | 004 | 014 | —
mgly | 00° | 062 | 054 | 089 | 067 | 065 | 066 | 190 | 073 | 067 | -
BEZE | 001 | 002 | 002 | 002 | 006 | 006 | 006 | 006 | 005 | 005 |
(mg/L)
A @ (mglL)| 007 | 008 | 009 | 011 | 028 | 027 | 025 | 028 | 022 | 024 | —
I fﬂng‘;g ¥ 10002| 001 | ND | 001 | 001 | 001 | 001 | 002 | 001 | 001 | —
i"(rfjgﬁ;rt)ﬁ 0005| 003 | ND | 003 | 003 | 003 | 003 | 008 | 003 | 003 | —
7 #5(mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
wm(mg/l) |0.0009] ND | ND | ND | ND | ND | ND | ND | ND | ND | 001
(C?F?J/?OOrﬁi) 10 | 230 | 170 | 65 | <10 | <10 10 <10 15 <10 | —
#(mg/L) | 0.0003| 0.0011 | 0.0013 | 0.0011 | 0.0010 | 0.0008 | 0.0005 | 0.0008 | 0.0007 | 0.0014 | 0.05
#(mg/L) _|0.00001]0.000008]0.0000060.000005| 0.00001|0.000008]0.000006| 0.00001 | 0.00001 [0.000005 0.005
2 (mg/L) | 0.0050 | <0.0050 | <0.0050 |<0.0050|<0.0050] <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.05
A (mg/L) 000015 ND | ND | ND | ND | ND | ND | ND | ND | ND |0001
# (mg/L) |0.00001 0.00031 | 0.00035 |0.00034|0.00033| 0.00004 | 0.00004 | 0.00038 | 0.00022 | 0.00035 | 0.03
% (mg/L) |0.00001] 0.00018 | 0.00023 |0.00019|0.00022| 0.00004 | 0.00027 | 0.00026 | 0.00022 | 0.00020 | —
&-(mg/L) 0.00001| 0.00010 | 0.00005 |0.00006|0.00004| 0.00003 | 0.00006 | 0.00006 | 0.00002 | 0.00005 | 0.01
#(mg/L) |0.00001] 0.00159 | 0.00245 |0.00182|0.00267| 0.00014 | 0.00245 | 0.00366 | 0.00284 | 0.00193 | 0.5
L%
2 Jooooos] ND. | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
F ,.% ‘f’«\
(/1) |0.00003 ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
4 (“mﬂlf; 0.00004f N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
ﬁﬁ o jg,*/\
B | (oit) [00000s| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
‘Efnzjﬁ; 0.00025/ <0.00025 | <0.00025 |<0.00025|<0.00025| <0.00025 | <0.00025 | <0.00025 | <0.00025 | <0.00025 | 0.1
Emjli; 000004l ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
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